CODE : [|1F¥] 3

RollNo.:.
Total No. of Questions : 16 ] [ Total No. of Printed Pages : 24
X
2024
&S udtfomr yorast
MATHEMATICS
(Punjabi, Hindi and English Versions)

(Morning Session)

Time All;ﬁgd : 3 Hours - Maximum Marks : 80

(Punjabi Version)
3 yEaUse§ T a9n S ufost 3 v et § mg g fonr
() e Gaa-adt @ e s '3 few- 33 Tvg-33 778 1 iy fem—23)
Tug-33 04/B 799 TSI I |
i) OF9-Ush 82 e O fare 3 2 56 fa forr RS oeies R 24 B 75
M3 B FHIT TS |

(iii) G39-uzd &9 ¥mal Uar /U 53¢ 3 gmiE I8 13 a8 yHs/yEsT T HaTae
&t 3T A= |

(iv) WSYRSAII IS |

(v) wTa-8fSFYHss. 133333
s &. 1S9 16 yFs vg-feaslt €357 T8 1-1 Ha 2 75 |
yi5 8. 2 fE9 7 yrs ndt /a3 €397 8 1-1 wia € 75 |

Y5 d. 38 T e v St AE 6 396 T8 1-1 Wid T T3 |

04/B-X 1 [Turn over
B-346

(¥ Scanned with OKEN S

nnnnnn



(i) TA-nfRYES. 43 7T YEs2MIT Y|

(vii) wa-e e s $. 8§ 13 3a 0da yis 4 v o I w3 fevw’ fd yrs day
9, 10 73 12 fSa niegat 82 J |

| (viii) F-7 ¥ ywa §. 14 3 16 33 339 ywa 6 wia &7 I w13 feas™ Ard yme' <9

niegal aed |

(ix) T96" T3 yus f&9 39 Are w3 At F3 a1 HruF wigH Jur-arfe3 wwraT
SBHIBAE |

(x) fr@iedt os rduz yuwi fég gas fesg e a dtyrs de i3 e |

(xi) aABIBT T3 95 T nirfam &1 T | s

EE:

(xii) TS UT YHES V3T 5 Bfam™ T |

a1 -8

few grar fee &3 Y5 1-1 »ia T8 s 16x1=16
1. wdtE3a8d |

) farAP faRE nT U a,J, T HI HIT =

(@) a,+17a ™) a+@n-1d (¥ S“+l-—S" (H) An+1 8,

n

(i) #ag TQ W3 TP dvd O TV fan Ja9 '3 € Hugn Ju=' few 37 05 fa
/POQ =110°3" £,PTQ ¥d83 J :

7

® 60° o) 70° (®) 80" o) - 90"
04/BX ' 2

(¥ Scanned with OKEN Scanner



(iii) W3 AHE faew Jous |
® wadami o) megu (®) €I (H) W3

av) 1-cos*9=

(ﬁ) sec* 0 ™M) sin“0 {'E_') tan< 0 (H) cosec? @

L)

(V) aﬂ?ﬁ?ﬂ;\ﬁ(‘ﬁ?ﬁ? B AHdE 32 I sin (A i C)E" HB ot J=ar ?

® 1 1 V3 R
() > (®) > (F) "
(vi) a9 faR 929 T ufomy w3 ¥39es Rfimmana gy &9 99799 95 37 OF I
" niJu fonrm 3

® 2fcaeit () nfeaeni  (8) 4feaebr (m) 7 foareh
(vii) HY It 299 AF' S 43988 T H3a =
® n@,+r) @) ne +rph (€ 200, +r) (A mrl

(vii) € BHT € HWHS 3’8 & 3H T mfegs 9&T 3R @ wifezs 2 <
HaEg JeTd |
© == () weg (B) TTHEH (F)
(ix) I3 fafmr &S faoz sg@a T gEa v 3 7
n_ of =
®) I+(i’f—{:}xh () n+%€%
Efiu, flufﬂ
(<) “{ of J“h &) “[21‘._@-@)“

(x) B2 Ufaw A & Jaft 377 & arel 3w & a7t &3 ffa U3 wog dfer e 8 |
Hees' U3 a4 fa feg uzr feq fee <t gdam d= |
5 1 3 1
@) o () = (%) = (R) =
(xi) I fafumf & fagdt fai wea & Heres 5t 3 wat d 2

@ % ) -1.5 (®) 15% () 0.7

04/B-X 3 [Turn over

(3 scanned with OKEN Scanner



(xii) 5+ J2 o= Hfemr 3 |
® ufshw o) wuforw (@) yfRfEa (F) Y35
(xii) R At &, 5gue P(v) o fAgg Je7 J #x9

& Pl =0 ) Pk) <0
® P&k >0 o) feast &9 aet &
(X1v) FIUE f(v) © TReg §T fagen »ig J2 a5 fig v = f(v) T T ]
il
® @ o) ¥-T3 ® () m) e fdg
(xv) kT HB U3 7E9 IW 3x — 3v = 6 M3 kv — Oy = 18 AU I |
& 2 o) 3 ® 9 (H) 6
(xvi) I& & mftags &S faoft swft mflsas st 3 2
& x- 2= 4 (™M) 3Bx-— 2 = .1'2
X 1
@ «x+ 2 = 4 () *-3=4x°-4x
g
2. Wt/ I\3: Tx1=

(1) 3HOI" = 9T8a + 2 HOH'S (RJ1/a133)

(i) W9 ¥ IS TV I Ml = AF Hors 32 3 mfiqaet § senSidngt Sy
@ 7 AUt Jafnft | (At ATE3)

(it)) ¥ wt wiage T WS B39 = b2 - dac (FfAEEI)

(iv) ﬁm%mﬁﬁ@ﬁﬁw%ﬁm&—%%ﬁw@h%
HYdd 3 g8t 35 | (Rdft/ars3)

(v) cos A, Q& A cosecant THIUFUT | (Ffhars3)

1) f¥g(2.0), x+13 ‘IAfE3T | (FftAs3)

(vii) mwmém%@%m%yﬁqmwmg,

(HJV/erE3)

04/B-X | 4

(3 scanned with OKEN Scanner



3.

H“B‘TWB@ T%1=7

() w2 E HftAges + wes 'E adt dt Haraar = ¥i

(i) B2 »rfess e pIg Jord

(it)) foR I3 e ufermy = x femmH

(iv) gy eysfigdedt=

(v f933fS&,DE || BCISTAD T i® I | EE

H‘E h_! E’E

g9 -

fer gmar fiee fE3 yis 2-2 wia 8 75 - 4%2=8

4. fIRTT5 12 499 U5 132 997 Ut €0 T a8 95 | 928 o4 9 &3 <oy 77 Haar
fa aet U3 yog 3 7 Sla 3 | fen funge &9, foa U nigsa v799 fen giaT I |
HJgae de U 2 ala 3 dt Hoes  uz' 93 |

5. f&x 15 . g7 T8 fEq Tgarag w2 He's @ ffa 85 ‘3 &9 68 sz w3 § 5 .
ot Ht 38 gfen 3femr 3 | Aes @ OF 3791 ¥ ¥39es usT 99 e W= wig 99
Ao J |

6. Swdtgguet- 152 fAEI U3 aqd |

7. 9673 404 T HCF w3+ dreaus feft avdff uzr 39 |

04/B-X - 5 [Turn over

canned with OKEN S

nnnnnn



9 -¥%
ferga e P yms 44 via a8 05 - 6x4=24
8. fidgn (-3, 10) w3 (6. -8) § el =8 Fu ds § fifg (-1, 6) fam »izu3 <9

SITI ?

9. HaATsinA= -g— 37 cos A3 tan AT HI YIS |

W

g =5 fx cos A +1+$inA=2ﬁE‘C:\
l+sin A cos A =
10. gadt '3 f¥a Mg fifdt ut 3 | godt @ fa fidg 3 9 ftsg @ wrorg fég 3 16 WY, gt
‘33, Hitza ¢ frgger Beeaz 60° 3, Hizsa St Toet uzT a3 |
-
fog ot @ s < ffa fdg 3 5<1 @ Aany fas o @ 3T d& gHEa 30° M3 45°
J%5 | 7499 UB, fasdfam 3 3 m € €oel ‘IR I st St daet uzrad |

11. &3 fuder, ngu fonrw 3.5 AN =8 ffx Hg © »ag €7 J, & BF »au form =3 fix
wau 38 Gug fefamr Ifenr I | for fu32 Iz €98t 1655 AT | fer @@ S am
A S 43IeB U a9 |

04/B-X 6

(3 scanned with OKEN Scanner



12. B39 0x Hyas Hivmmet uzr a3 firgt @ caar o 33 365 32 |
"

ffa mide faan A Quet fen @ wrarg 3 7w Wiz 3 | 399 a9 13 X 32 3 vt 3
AT YIS |

13. SRAP IUTB 22 o Agesuz a3 i g d = 7 3 m3 22a7 uw 149 |

gl ™
~ i
fergarfes Rayms 6-6nlaer 3 3x6=18
14. fRo 33 fa 7 fai f3gw oo fait i 3w @ miisa et Sur firdft e 3 feg wreft For @
AT & NS nizu3s fEg d3R 3 |
M

ﬁﬁﬁ%%ﬁﬁg'%w%,wﬁgéwﬁm@m%éﬁw
3

15. I3 &3 a3, fan iz © 200 ufees’ & a5 vdteea Wiy yae &t <3 § TawEe
J% | fegs ufgea o e vgsa vag U3 59 |

i m{{ﬁa‘) Elﬂﬂﬂ-lﬁﬂﬂ 1500-2000 |2000-2500 [ 2500-3000) 3000-3500 | 3500-4000 1000-4500 | 4500-5000
|
] ufaea &t
: 24 10 33 28 30 22 16 7
|
=

aaﬁsﬂﬁe?éafﬁamésoﬁfﬁwaﬁnﬁ%m(m)ﬁmal
fefenradn & Hitar 7 Uz aqd |

A5 (fa@Iy | 40-45 | 45-50 | 50-55 | 55-60 | 60-65 | 65-70 | 70.75
fé&a)
| 1 |
fefenradn & 2 3 8 G G 3 2
ASSEUES SRS TS NS S | ' e R — - i A
04/B-X 7 [Turn over

(3 scanned with OKEN Scanner



16. WS x —y + 1= 0 w3 3x + 2y — 12 = 0 § widft feech vt I& 73 w3 feTa”
dyret a5 w2 fggw 2 finrat 2 fooaw vy wr a3 w3 fggw wrars 899 § &
nifag a3 |

(1)

(1)

(iir)

(1,
(v)

"

foa fgae L aw % 7 98 w3 6 e’ T 3,800 &9 ydiEn | g &9 EFs 3 W8
w3 53t 1,750 fEe ydtetn | go fdg 8 m3 e ev yB U a4 |

(Hindi Version)

-3 & F & gge Freferfaa P 1 areva ue
A IR-YRH F TE S W fawa-Fg/Iw-Hie & @ H fayg-wig /I-HIg

04/B 37a¥g W |
A3 A 3y FeR-yferw @ w, ghad # fF gfer § 5@ 7 dfd 24 9 7 3R

SH A FIGG E |
Fer-gfRreT § @refl BI3 7TC IS8/ 81 F TYSIq E T T N/ S H GEATHA TE AT

AT |
it wya rfEd & |

qP-F A A 1 @ 3TH 2 |

g9 Fa7 1 8§ 16 TgIhicqs WA 1-1 FFH F 7 |
oy FaC 2 3 7 W9 e /7 I A 1-1 JFH 8 |

gvq dat 3 7 7 Wed R SWH A T 1-1 FH 5 8 |

HM-@H YA T 4R 7T 2-2 FH HIAE |
qrT-1 o Wy @t 8 ¥ 13 % 4-4 376 % woq B ot 399 @ WY T 9, 10 Ty 12 H

@ Scanne

d with OKEN S

nnnnnn



(i) T ATt v 8 st 3wl @ 3w ek Ry e A % e RE fiegd wdé
3R w6 A 7= |

(x)  varfufa @ defa et ) 3f e e g SR |
(xi)  FAFN 1 I A H 3 T D |

(xii) % U9 WYA-UF & H1o Heg 2 |

qr — &
FTENMH 1-1 3 IS 16x1=16
1. Treferfen vl o @ wd freea %1 g7 =t -

(1) ﬁﬁﬂA.P.ﬁ'ﬂﬂ-ﬂnﬁ‘En"%,aﬂmﬁiW: o

(F) a ., +a, @@ atm-bdoem S-S ®& a, ,,—-a

1 n n

(1) Al TQ 3t TP & O a1t foreft g1 w 21 ot -amd 3 wabmt & f6 £POQ = 110°,

@t ZPTQ ST 2 -
T
[}
)
Q
(&) 60° @ 70" @m 80" =) 90°
(iti) @+t wraTg By BAR
(@) GAITER (&) [UEy (M) =R @) grE
(1v) 1-—cos*6=
(@) sec®® (&) sinZ0 (M tan®0 () cosec? 0
04/B-X 9 [Turn over

(3 scanned with OKEN Scanner



v) u&agmacﬁmamwa,mm[*“;c]mmm@m?

1 v3 1
&) 1 4:@)5 o e (ﬂ)ﬁ

(vi) AR T g 1 i 3R et wheATeT w9 @ G 8, 4 39 94 6 TR
&) 29E% (@) n S () 4 "ES ) 7HEAS

(vil) VI 1 T3k JST §TFe &1 G5 =

(<h) Tt(l‘l -+ I‘E)f @) mn(r, + 1'3)11 () 21‘[(1‘1 + 1'2)] (") nrl
(viii) & Wﬁ%éﬁmﬁaﬁaﬂammaﬁaﬂzﬁ%m%

& SUEC BT 8 |
G am @) «erE @M TUHER @) N
(ix) Feffaada s g asas ST 2 7
2=% | @) o+
) [+ : x h a of
Xfu, : f, — 1,
o ﬂ+(Tﬂ-}Xh “ H[Zfl-fn—fz)xh
(v, 3T YR A B TE 52 Ul ) Ush TE § § U AT fHehTeT SATa1 B | $6eh! Wikl
aferfera Sifse fob @8 gar b 2 H I 8 |
5 4 3 1
®) 36 = 15 LT @ 5
(xi) froferfiaa § @ S € g fRdl vean i iy 781 & aehdl ?
() % @ -1.5 @  15% @ 0.7
(xii) B+ J2UTH  HEHR|
) i @) ey @ WA @) qui
04/B-X 10

(3 scanned with OKEN Scanner



(xiii) T Sreafds g k, ¥ETG P(x) 1 % Bl R, 3

&) Pk =0 (@ Pk)<0 @

M Pk)>0 ®@) T HE A
(x1v) TETR, f(x) % s 78 mws R E 7wl v = f(n) F1 O =! yfrese
HTR |
@ -3 @ yI@ M (xy) @) g
(xv) k=1 #H 31a Hifsrg 7fe t@nd 3x - 3y = 6 3t kx — 9y = 18 Fareht & |
() 2 (@ 3 W 9 =) 6

- (xvi) 1= & 7 el & Bt R afteor T 2 2

3 |
F) x— 2 =4 (@) 3x—— =22

X X

E
. 1
M x+—=4 (F) x2—-3=4+2-4x

X

2., &/ T 7><l=l7
(1) 3 "I = ¥goish + 2 "I (WEI/Tea)

(i) AR g I W Tl 71 3w wa &, @ witwt F vl T vede
AT & T HUT B | (HEY/ATed)

(iti) Teara gefiea =1 fgurd 939 = b2 - 4ac (@& /Tem)

(iv) %&ﬁwﬁgﬁﬁmﬁﬁmmlﬁaﬁﬁmﬂ—%mﬁ%ﬁamﬁmmﬁgﬁﬁ
ﬁaﬁaﬁmmﬁmmﬂﬂmwﬁwﬁnﬁq(ﬁﬁm)

(v) cnsA,ﬁWAa;cnsecant%%mugﬁwdeq%|(q'5°|ma'a)

(vi) fig (2,0), x-318 T R 2 | (@di/rema)

(vii) Teeh WIS HGAT i W TEUTST & Teh A% & 9 3 sqa fam o gean R |

(@)
04/B-X 11 [Turn over

(¥ scanned with OKEN S

nnnnnn



3.

5.

P T X

(i) =& E 6 wilehan + gear ‘E 7€ 6 wiesar =

(i) AT F AT BT G Bard |

(i) Toref g1 ) oitfy = X ST

(iv) Toig (v, y) o fagagli=_

(v) 3&fd¥ DE || BC®, @ AD %1 4H BT |
A

4 cm G em

(V1) ﬂﬁia.b:ﬁﬁ(ﬂ%ﬂﬁ:&l{ihﬁﬂﬂaﬁ?ﬁqqaﬁ;ﬁ|;; B

Tx1=7

& g |

(vii) afe a0 _ % & & tRew wfiemi Fgm
a2

bg CE

59 M & 2-2 37 & W 2 ;

4%2=8

At ror 12 @UE 99 132 3198 W 1 et 10§ | Shaet q@e 9 Tl Sarn ST Eehd @
R w1é 9 @UE & 91 31901 2 | 39 A U 1 argfenes w9 & freen s @ | R T

' £ aro01 21 & ifdesar 7 T |

15mgma@mmm%ﬂm%@ﬁmaﬁﬁ%ﬁﬁtﬁ%aﬁﬁméﬁmﬁ
3wty frar mar 2 | e & 39 W 1 SEGE T HT STl Sig] ’IE S gehar 2 |

04/B-X 12

(¥ Scanned with OKEN S

nnnnnn



6. Rumwgwzi2.- 15 & Y0 ma dify |

a6 A0). I I
6 3R 404 %1 HCF anme e fif g g i |

WHIH 4-4 IFH U E - 6x4=24

Rigatt (-3, 10) 3k (6, -8) = e amet Ywrae %1 Rig (-1, 6) e smam & Rofra
HEIR ?

+ 3
9., 3IRsinA= g?ﬁcnsAaﬂ'{tanAﬂWWﬂﬁQl

<UE

fyg Eifsm cos A +1+HIHA=2HEEA

l1+sin A cos A

10. ot ot U AR FrAr @ R | vl % ok g A, A i S ar fig R 15 mw R,
A % et &1 3977 H:01 60° | HiHn A F=rd 3 Hifve |

HATT

T T4 % g o U 14 A T & wapa e & s o s 300 otk 450 # | gl
get fFrl & 3 m ) T WA @ 7 A <erd sma hifve |

04/B-X 13 [Turn over

(3 scanned with OKEN Scanner



11. ‘E‘Ff‘mhmﬁm;1:”-“1mmr@tmwn_qﬁmﬁwmﬁwﬁ’ﬂﬁﬂ
Wﬁﬁﬁglmﬁiﬂﬁﬁﬂ'ﬂ[ﬁm I.'}_ﬁrnlt_lwwmdﬁmmm

i |
12. 3 T 9T ot s ifdr R il & 365 8 E
aygar
T GRS 5595 MUR Y 7 em 9 2 | AR F0 13 cm FA, T HAQ
WE 79 U |

13. 3@ A.P. % WuW 22 92} 1 907 3 Hfvg, e d = 78 s 2297 9g 149 8 |

FTAUTMHG6-6 HF ST 2 : I%6=18

14. fag Sifse 5 afe fardt figa o yan & gaid 3231 3 yansit = - figa w
wfrege F01 % forq us Y@ @ish WY, @ A 37 @ qenat # us @ g § fnnf

S & |
o 5E

fag #ifau fa gn & fardi fag v vl -tan, vt fag @ 90 a1t s waa 8 |
15. frefafaa sie fad mfa & 200 dfEn & $6 wfis R s S s H o 1w
aftari %1 sgers uifas =5y 4 ifau

—

e [ L T 1 -‘ o
=g (T 4, 10001500 | 1500-2000 | 2000-2500 | 2500-3000 [ 3000-3500 [ 3500- 1000 | 1000- 4500 | 45005000
1 = e F— . —
qfard € g 24 10 44 2K 30 29 16 7
P | B S .
HAYET
04/B-X 14

(¥ Scanned with OKEN Scanner



A= e gom w7 w wan % 30 R % wr ) ent w2 | frafE @ oo aw
e hifd |

wR (Reetim ) 40-45 | 45-50 | 50-55 | 55-60 | 60-65 | 65-70 | 70-75
feenffat 6 9w

b
o
0

6 6 3 | 2

16. THHWH x — y + 1= 0 3 3x + 2y — 12 = 0 =1 7% GRIT | v-37& 3 3 T3t &

T By < il 3 Frdwrien s i 3in gerar geet %) Braifea Hif |

Ry
T fohhe W & $  7 wot aur 6 e T 3.800 @ WS | 9 §, 39T 3 TooF AT
5716 ¥ 1,750 ® @ | ylieh weet 3 Wl 1 &1 qog 77 HITAC |

I-III-
At
A
(English Version)
Note: The following instructions must be read before solving the question

paper :
(i) You must write the subject code/paper code 04/B in the box provided on the

title page of your answer book .

(ii) Make sure that answer book contain 24 pages (including title page) and

are properly serialled as soon as you receive it.

(iii) Question/s attempted after leaving blank page/s in the answer book would

not be evaluated.

s

(iv) All Questiﬂns are Compulsory.
(v) Part-A have questions from No. 1to 3.
Question No. 1 have 16 questions of Multiple Choice of 1 mark each.

Question No. 2 have 7 questions of TRUE / FALSE of 1 mark each.

Question No. 3 have 7 questions of Fill in the Blanks of 1 mark each.
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(vi) Part-B have questions from No. 4 to 7 each of 2 marks.

(vii) Part-C have questions from No. 8 to 13 each of 4 marks and there is

internal choice in question number 9, 10 and 12.

(viii) Part-D have questions from No. 14 to 16 each of 6 marks and there 1s

internal choice in all questions.

(ix) In questions on construction, make drawing neatly and exactly as per

given measurement using geometrical instruments.
v should be solved by drawing appropriate

(x) Questions related to geometr
Igvgu

diagram.

(xt) Use of Calculator is not allowed.

(xi1) Graph paper is attached with the question paper.

Part-A

Each question is of 1 mark in this part : 16x1=16

1. Choose the right option from the following questions.

(i) The common difference of an A.P. whose nth term 1s a_ =

(@) a,.;+a, ) a+(m-1d (¢) S,,,;-S, @ a, , ,—a,

Gi) If TQ and TP are the two tangents to a circle with centre O so that

/P0OQ = 110° then ZPTQ 15 equal to
o

(a) 60° (b) 170° (c) 80° @ 90°

04/B-X 16
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(1) All equilateral triangles are

(8) congruent (b) similar (¢) equal (d) consistent

(1v) 1-cos29=

(a) sec?9 (b) sin?@ (¢) tan?6 (d) cosec?0

(v) If in a triangle ABC, angle B is right angle, then what will be the
A+C] , 3

value of sin (
2

(a) 1 (b) % (c) -‘E (d) s

2 V2

(v1) If the perimeter and the area of a circle are numerically equal, then

the radius of the circle is

(a) 2 units (b) munits (¢) 4 units (d) 7 units

(vil) The curved surface area of the cone =

(a) m(ry+ry)l (b) Tt(l‘l'*:rz}h () 2r(r,+ry)l (d) mrl

(viii) The volume of the solid formed by joining two basic solids will

actually be the of the volumes of the constituents.
(a) sum (b) difference (¢) product (d) division

(ix) Which of the following formula is used to find the mode ?

. Zfd,

b
(b) a o€

f, —f
dy 1+ il x h
@ (2!‘,-[“—&}
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(x) One card is drawn from a well shuffled deck of 52 cards. Calculate the

probability that the card will be a queen of diamonds.

1
S 4 3 d) —

.q .
(xi) Which of the following number cannot be the probability of an event :

(a) g (b) =15 ) 15% d 0.7
’ naee,
(xi1) 5 + V2 is a/an number . EE
(a) rational () irrational (c) natural (d) whole

(xiii) A real-number k, is a zero of the polynomial P(x) if

(a) Pk)=0 (b) P(k) <0

c) Pk >0 (d) None of these

(xiv) The zeroes of a polynomial f(x) are the coordinates of the points,

where the graph of y = f(x) intersects the

Eﬁ (a) x-axis (b) v-axis () (x,¥) (d) origin

(xv) For which value of k, does the pair of lines 3x — 3y = 6 and kx — 9y = 18

are coincident ?
(a) 2 (b) 3 © 9 @ 6

(xvi) Which of the following is not a quadratic equation ?

i
(a) .'C—E =4 (b) 3_r_i:12
o 7 X
1 9. 3
(ﬂ) Y+ — = 4 (d) b .3 -~ 4.1.._. - 4.‘:
X
04/B-X 18
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True/False : Tx1=7

(1) 3 Median = Mode + 2 Mean.

(True/False)
() If a pair of linear equation of two variables is consistent then the
lines, representing the equations will be intersecting or coincident.
(True/False)
(1) The Quadratic formula of the quadratic equation = b2 — 4ac.
(True/False)
(iv) The opposite sides of a quadrilateral circumscribing a circle subtend
supplementary angles at the centre of the circle. (True/False)
(V) cos A, 1s the abbreviation used for the cosecant of angle A.
(True/False)
(vi) Point (2.0) lies on x-axis. (True/False)

(vi1)) Every composite number can be factorised as product of primes.

I ) (True/False)
3. Fill in the blanks: Tx1=7
(i) Probability of an event E + Probability of an event 'not E’ is equal to
(11) The volume of a cylinder = B
(ii1)) The Circumference of a circle = x diameter.
(iv) The distance of point (x, y) from origin is
(v) In the figure given below DE || BC, then the value of AD =
04/B-X 19 [Turn over
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(vi) Ifa, b and c are consecutive three terms in A.P. then b =

e a b, c |
(vii) If =L#—L=-"L then the pair of linear equations has
a, by c,

solution.

e,
Part-B ' @

This part has questions of 2-2 mark : 4x2=8

4. 12 defective pens are accidentally mixed with 132 good pens. [t 1s not
possible to just look at a pen and tell whether it is defective or not. One pen

is taken out at random from this lot. Determine the probability that the

pen taken out is a good one.

5. A horse is tied to a peg at one corner of a square shaped grass field of side

15 m by means of a 5 m long rope. Find the area of that part of the field 1n

which horse can graze.

6. Find the zeroes of quadratic polynomial t= - 15.

7 Find the HCF of 96 and 404 by Prime Factorisation Method.

Part-C

This part has questions of 4-4 mark : 6x4=24

8. Find the ratio in which the line segment joining the points (-3, 10) and
(6, —8) is divided by (-1, 6).
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. 3
9, IfsinA= = then find the value of cos A and tan A.

OR

10. A tower stands vertically on the ground. From a point on the ground,

Prove that -.C“.B‘A +1+51nA =9sas A
l1+sinA ‘cos A

which is 15 m away from the foot of the tower, the angle of elevation of the
top of the tower is found to be 60°. Find the height of the tower.

OR
From a point on a bridge across a river, the angles of depression of the
banks on opposite sides of the river are 30° and 45°, respectively. If the

bridge 1s at a height of 3 m from the bank. find the width of the river.

11. A toy is in the form of a cone of radius 3.5 cm mounted on a hemisphere of
same radius. The total height of the toy 1s 15.5 cm. Find the total surface

area of the toy. https://www.punjabboardonline.com

12. Find two consecutive positive integers, sum of whose squares is 365.

OR
The altitude of a right triangle is 7 cm less than its base. If the hypotenuse

is 13 cm., find the other two sides.

13. Find the sum of first 22 terms of an A.P. in which d =7 and 29ond term is

149.
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Part-D

This part has questions of 6-6 mark : 3x6=18

14. Prove that, if a line is drawn parallel to one of a side of a triangle to
intersect the other two sides in distinct points, then the other two sides are

divided in the same ratio.

OR

Prove that the tangent at any point of a circle 1s perpendicular to the

radius through the point of contact.

15. The following data gives the distribution of total monthly household
expenditure of 200 families of a village. Find the modal monthly

expenditure of the families :

Expenditure |1000-1500 1500-2000 | 2000-2500 |2500-3000 |3000-3500 3500-4000 [1000-4500 4500-5000
(in )

Number of B 0 33 - 10

=1

| {1
P

16
families

OR

The distribution below gives the weights of 30 students of a class. Find the

median weight of the students.

| Weight (in kg) 40-45 | 45-50 | 50-55 | 55-60 | 60-65 | 65-70 | 70-75

.

Number of students 2 3 8 6 6 3 2

16. Draw the graph of the equations x —y + 1 =10 and 3v + 2y — 12 = 0.
Determine the coordinates of the vertices of the triangle formed by these

lines and the x-axis, and shade the triangular region.

OR

The coach of a cricket team buys 7 bats and 6 balls for ¥ 3,800. Later, she
buys 3 bats and 5 balls for ¥ 1,750. Find the cost of each bat and each ball.
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